40

1320
1240 40
L0
e | 04 S
e
g | C@k:ﬁ%
— e
v

98.5

L)
()

250

Y — YHfmER

I
O
j?/ [eN}
ad
I
‘ — o
— [
@)
| (@)
h\ )
@ .
X — XWX

%S woAs & W # g HE % E3
I Z 1k FRP I
2 oL —F-A FRP I Bt
3 w\L—5-8 FRP | BT
4 w18 -59-C FRP I Bt
5 N2y b S US I $p5XP8
6 woOA 0 PV C I 75
7 FoOoE 0 PV C I $75
8 # B 0 PV C I $75
9 # 4 0 PV C 2 $50
10 AvbFryT PV C I $50 (HES)
1) HROZERULALBAICE Ty TR EFERLTTSL,
2) BRIOLLTBAISEA HSOILVU (VP )500/5(/ TAIT,
TNV F vy TERUMTTTEL,
3) BRI/ TRRTEERALCTSL,
4) FAFE(IC, IR, IL) AHAR(0C. OR.0L)%&
CHREVEETET,
5) wAAmM(IR., |L)Y&CEROBE REUBSZEILAUZT .,
60°
55 <7
R
X
ANVARANNARANNA
8 | 8
INYF DT — R FTERINEER
N = 80 [L]
HBEARATRE 60.0[L/min]
THRET ) - 20EE 19.90ky]
M3—R 82629
o J=2+5v7 bitay B
8%, (84 TFMTER ) L7 | (82) GTC—NG6OP =&
FRCA LM Ee%t (B8] 25800032




1320
65 595 , 595 65
| [
__%rk S NP \W] S SN N [1 o
/7 7 7| 77
N N N
e e S S &
o] [a\]
RN H LT | <t
40 =
5 1310 5
, £434 ,
o) . P
\ | M <t
b S 1 S 1 S 1|
¥ = I
40| | 1240 | |40

&5 B &% & # # g BE ] %
1 J 49 S S 3 | K32t
2 2 1 S S 1 L40X40X5
1) BEREG  BERE (B26)LTHVUET,
()
_Sy
© o
e ] |
Y &
3.2 0
E——
—H
40| |
i TE
Y-Sy GTC—N60OP
FAIWRSyT GTC—NGB6OPA1IL

Md-F

82635

o 7| FRPETU-2t55T
" ERE

B
(K5)

&EXE GTC—N60OP

AR TR 21

0 &

25804002




